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QUESTION 1

Which two are HTTP response codes from a successful cache hit by default? (Choose two.) 

A. 

B. 

C. 

D. 

Correct Answer: AC 

 

QUESTION 2

Which two of the following settings could be configured using a TCP profile that is bound to a service? (Choose two.) 

A. TCP buffer size 
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B. Window scaling 

C. TCP Server time-out values 

D. Source IP for specific subnet 

E. Allowed bandwidth throughput 

F. Number of max concurrent TCP connections 

Correct Answer: AB 

 

 

QUESTION 3

Scenario: Company Inc. wants to tag incoming requests with a header that indicates which browser is being used on the
connection. This helps the server keep track of the browsers after the NetScaler has delivered the connections to the
back end. 

The engineer should create __________ actions to __________. (Choose the correct set of options to complete the
sentence.) 

A. rewrite; insert tags on the client header 

B. responder; separate the client requests 

C. rewrite; insert tags on the server response 

D. responder; filter the browser type on the client header 

Correct Answer: A 

 

QUESTION 4

When a network engineer logs onto a new NetScaler device in the London datacenter, data output indicates that the
device is NOT configured for the local time. 

How can the network engineer synchronize the correct time with an NTP server in the local data center? 

A. Configure the correct time from the GUI and restart. 

B. Modify the ntp.conf and rc.netscaler files and restart. 

C. Logon using the nsrecover/nsroot credentials and restart. 

D. Configure the NetScaler as a secondary NTP server and restart. 

Correct Answer: B 

 

QUESTION 5
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Scenario: A network engineer created an IPv6 virtual server on the NetScaler. The virtual server is using a service
group with two IPv4 servers bound to it. When testing access to the virtual server from a client configured with an IPv6
address, he is unable to connect. 

What could be the reason for this issue? 

A. The NetScaler is disabled for NAT. 

B. IPv6 protocol translation is disabled. 

C. An IPv6 address on the NetScaler is not bound to the correct VLAN. 

D. The NetScaler does not have an INAT rule to convert IPv4 to IPv6 from the back-end servers. 

Correct Answer: B 
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